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Enemy Pie

by Derek Munson
illustrated by Tara Calahan King

It was a perfect summer until Jeremy Ross moved in right next door to
my best friend Stanley. I did not like Jeremy. He had a party and I wasn’t
even invited. But my best friend Stanley was.

I never had an enemy until Jeremy moved into the neighborhood. Dad
told me that when he was my age, he had enemies, too. But he knew of a
way to get rid of them.

Dad pulled a worn-out
scrap of paper from a recipe
book.

“Enemy Pie,” he said,
satisfied.

You may be wondering
what exactly is in Enemy
Pie. Dad said the recipe was
so secret, he couldn’t even
tell me. I begged him to tell
me something—anything.

“I will tell you this,
Tom,” he said to me. “Enemy
Pie is the fastest known way to get rid of enemies.”

This got me thinking. What kinds of disgusting things would I put into
Enemy Pie? I brought Dad earthworms and rocks, but he gave them right
back.
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\-_/ I went outside to play. All the while, I listened to the sounds of my
dad in the kitchen. This could be a great summer after all.

I tried to imagine how horrible Enemy Pie must smell. But I smelled
something really good. As far as I could tell, it was coming from our kitchen.
I was confused.

I went inside to ask Dad what was wrong. Enemy Pie shouldn’t smell
this good. But Dad was smart. “If it smelled bad, your enemy would never
eat it,” he said. I could tell he’d made this pie before.

The oven buzzer rang. Dad put on oven mitts and pulled out the pie. It
looked good enough to eat! I was beginning to understand.

But still, I wasn’t sure how this Enemy Pie worked. What exactly did
it do to enemies? Maybe it made their hair fall out, or their breath stinky. I
asked Dad, but he was no help.

While the pie cooled, Dad filled me in on my job.

He whispered. “In order for it to work, you need to spend a day with
your enemy. Even worse, you have to be nice to him. It’s not easy. But that’s
the only way that Enemy Pie can work. Are you sure you want to do this?”
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Of course I was.

All T had to do was spend one day with Jeremy, then he’d be out of my
life. I rode my bike to his house and knocked on the door.

When Jeremy opened the
door, he seemed surprised.
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“Can you come out and play?” I asked.

He looked confused. “I'll go ask my mom,” he said. He came back with
his shoes in his hand.

We rode bikes for awhile, then ate lunch. After lunch we went over to
my house.

It was strange, but I was having fun with my enemy. I couldn’t tell Dad
that, since he had worked so hard to make the pie.

We played games until my dad called us for dinner.

Dad had made my favorite food. It was Jeremy’s favorite, too! Maybe
Jeremy wasn’t so bad after all. I was beginning to think that maybe we
should forget about Enemy Pie.

“Dad”, I said, “It sure is nice having a new friend.” I was trying to tell

him that Jeremy was no longer my enemy.
But Dad only smiled and nodded. I think
he thought I was just pretending.

But after dinner, Dad brought out the
pie. He dished up three plates and passed
one to me and one to Jeremy.

“Wow!” Jeremy said, looking at the pie.

I panicked. I didn’t want Jeremy to eat
Enemy Pie! He was my friend!

“Don’t eat 1t!” I cried. “It’s bad!”

Jeremy’s fork stopped before reaching
his mouth. He looked at me funny. I felt
relieved. I had saved his life.
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“If it’s so bad,” Jeremy asked, “then why has your dad already eaten
half of 1t?”

Sure enough, Dad was eating Enemy Pie.

“Good stuff,” Dad mumbled. I sat there watching them eat. Neither one
of them was losing any hair! It seemed safe, so I took a tiny taste. It was
delicious!

After dessert, Jeremy invited me to come over to his house the next
morning.

As for Enemy Pie, I still don’t know how to make it. I still wonder if
enemies really do hate it or if their hair falls out or their breath turns
bad. But I don’t know if I'll ever get an answer, because I just lost my best
enemy.
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Questions Enemy Pie

1.  Who is telling the story?

@ Jeremy
Dad
@ Stanley

@ Tom

2. At the beginning of the story, why did Tom think Jeremy was his
enemy?

3. Write one ingredient that Tom thought would be in Enemy Pie.
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4.  Find the part of the story next to the picture of a piece of pie: €# .
Why did Tom think it could be a great summer after all?
@ He liked playing outside.
He was excited about Dad’s plan.

@ He made a new friend.
©

He wanted to taste Enemy Pie.

5.  How did Tom feel when he first smelled Enemy Pie? Explain why
he felt this way.

dOMINYHEd 9T0C S1dId
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6. What did Tom think could happen when his enemy ate Enemy Pie?
Write one thing.
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7. What were the two things Tom’s dad told Tom to do for Enemy Pie
to work?

106

8. Why did Tom go to Jeremy’s house?
@ To invite Jeremy to dinner.
To ask Jeremy to leave Stanley alone.
@ To invite Jeremy to play.

@ To ask Jeremy to be his friend.

9. What surprised Tom about the day he spent with Jeremy?
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_10. At dinner, why did Tom begin to think he and his dad should
forget about Enemy Pie?
@ Tom did not want to share dessert with Jeremy.
Tom did not think Enemy Pie would work.
@ Tom was beginning to like Jeremy.
O,

Tom wanted to keep Enemy Pie a secret.

A
)
—
wn
\S]
| (@)
11. How was Tom feeling when Dad passed the piece of Enemy Pie to -
Jeremy? =
z

1 d
@ alarme g
o
satisfied :

@ surprised
@ confused
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What was it about Enemy Pie that Dad kept secret?
@ It was a normal pie.

It tasted disgusting.

@ It was his favorite food.

@ It was a poisonous pie.

Look at this sentence from the end of the story:

“After dessert, Jeremy invited me to come over to his house the
next morning.”

What does this suggest about the boys?

@ They are still enemies.

They do not like to play at Tom’s house.
@ They wanted to eat some more Enemy Pie.
©,

They might be friends in the future.

Use what you have read to explain why Tom’s dad really made
Enemy Pie.

APPENDIX B
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15.  What kind of person is Tom’s dad? Give an example of what he did
in the story that shows this.

0@ @0

16.  What lesson might you learn from this story?

eelee
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Scoring Guides for Constructed-response Questions

Enemy Pie, Item 2
2. At the beginning of the story, why did Tom think Jeremy was his enemy?

Purpose: Literary
Process: Make Straightforward Inferences

1 - Acceptable Response

The response shows understanding that Tom considered Jeremy his enemy, either because Jeremy did not
invite him to his party, or because Jeremy invited Tom’s best friend Stanley and not him.
Examples:

Tom was not invited to Jeremy’s party.
Jeremy invited his friend to his party, but did not invite Tom.

OR, the response shows understanding that Tom was afraid that Jeremy would take his place as Stanley’s
best friend.
Examples:

Tom was jealous of him moving in next to Stanley.

Jeremy took his best friend.

0 - Unacceptable Response

The response does not show understanding of why Tom considered Jeremy his enemy. The response may

repeat words from the question, or may provide a vague response that acknowledges that Jeremy moved in

next door to Stanley or invited him to his party without showing understanding of the consequence.
Examples:

Jeremy was his enemy.

Jeremy moved in right next door to Tom’s best friend.
Jeremy invited Stanley to his party.

Jeremy was new in the neighborhood.

Jeremy was his friend.
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Enemy Pie, Item 3
3. Write one ingredient that Tom thought would be in Enemy Pie.

Purpose: Literary
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response identifies either (earth)worms or rocks as an ingredient.
NOTE TO SCORERS: Do not credit responses that include ANY incorrect piece(s) of information
alongside correct answers.

Answers:
earthworms
worms

rock

0 - Unacceptable Response

The response does not provide either of the ingredients listed above. The response may provide a vague
description without mention of a specific ingredient, may name an incorrect ingredient alongside a correct
response, or may describe what would happen to someone who ate the pie.

Examples:

rocks and dirt

OM3INWVYEd 9T0C ST1dId

worms and raspberries
disgusting things

secret ingredients

things that make your hair fall out
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

mr U S

9 - Blank
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Enemy Pie, [tem 5
5. How did Tom feel when he first smelled Enemy Pie? Explain why he felt this way.

Purpose: Literary
Process: Make Straightforward Inferences

2 - Complete Comprehension

The response shows understanding that Tom was confused because he thought Enemy Pie was supposed to
smell bad, or that Tom was surprised because the pie his dad made (actually) smelled good.
NOTE TO SCORERS: Students may express Tom’s confused or surprised feelings in a variety of
ways.

Examples:

confused because he thought it was made with disgusting things
He didn’t understand. It should taste horrible.

He felt unsure. Enemy Pie should smell bad.

surprised because it smelled really good

1 - Partial Comprehension

The response shows understanding that Tom was confused or surprised when he smelled Enemy Pie for the
first time, but does not explain why.
Examples:

confused
He wondered what was going on.

OR, the response explains that Enemy Pie didn’t smell the way he thought it would without providing the
feeling.

Examples:

Enemy Pie shouldn’t smell this good.

He thought the pie would smell bad.

He thought it would smell awful, but it didn’t.

0 - No Comprehension

The response does not provide either the appropriate feeling or an explanation.
Examples:

He smelled something really good. (Please note that this response does not provide a feeling or a clear
explanation for why Tom was confused.)

He felt hungry.
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Enemy Pie, Item 6

6. What did Tom think could happen when his enemy ate Enemy Pie? Write one
thing.

Purpose: Literary
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response identifies one of the consequences of eating Enemy Pie from the list below.
NOTE TO SCORERS: Ignore minor variations in phrasing from the text, as long as it is clear
what is intended.

Consequences of Eating Enemy Pie:

His hair would fall out.

His breath would stink.

He would go away.

Something bad would happen./He would get sick (or die).

0 - Unacceptable Response

The response does not provide any of the words or phrases in the list above. The response may repeat words
from the question.

Examples:

He might like it.

He would become his friend.

OM3INWVYEd 9T0C ST1dId

Nothing would happen.

He would become his enemy.
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.
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Enemy Pie, [tem 7
7. What were the two things Tom’s dad told Tom to do for Enemy Pie to work?

Purpose: Literary
Process: Focus on and Retrieve Explicitly Stated Information

2 - Complete Comprehension

The response identifies both actions that make Enemy Pie work: 1) spending the day with his enemy, and 2)

being nice to him.
NOTE TO SCORERS: Any responses that do not include specific reference to the amount of time
that should be spent (a day) should not be credited.

Examples:

be nice to his enemy for a whole day

spend the whole day with Jeremy and be nice
be nice and play with him for a day

play all day with Jeremy and be friendly

1 - Partial Comprehension

The response provides one action that Tom was told to do by his Dad.
Examples:
be nice
spend the day with him
play and be nice

0 - No Comprehension

The response does not provide an accurate action that Tom was told to do by his Dad.
Examples:
play with him (Please note that this is not one of the things Tom’s dad told him to do and is too vague to be
considered as a paraphrase of either spending the day or being nice.)
stop being enemies (Please note that Tom’s dad did not tell him to stop being enemies with Jeremy, nor did
he tell him to be his friend.)

invite him over for dinner

eat Enemy Pie

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Enemy Pie, ltem 9

9. What surprised Tom about the day he spent with Jeremy?

Purpose: Literary
Process: Make Straightforward Inferences

1- Acceptable Response

The response shows understanding that Tom had a positive experience with Jeremy. The response may
indicate that he enjoyed spending time with Jeremy, that Jeremy wasn’t as bad as Tom expected, or that they
had become friends.

Examples:

He was actually having fun with Jeremy.
They were getting along.

Jeremy wasn't so bad after all.

Jeremy was nice.

They became friends.

It was a good day.

0 - Unacceptable Response

The response does not accurately describe what surprised Tom.
Examples:

OM3INWVYEd 9T0C ST1dId

Tom was surprised.

Jeremy was going to eat the Enemy Pie.

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Enemy Pie, [tem 14
14. Use what you have read to explain why Tom’s dad really made Enemy Pie.

Purpose: Literary
Process: Interpret and Integrate ldeas and Information

1- Acceptable Response

The response demonstrates understanding that Tom’s dad’s plan for Enemy Pie was for Tom and Jeremy to
become friends.
NOTE TO SCORERS: The response does not need to explicitly state that Tom’s dad made them
spend time together to be awarded credit.

Examples:

to make them be friends and not enemies

He wanted them to be friends.

to get them to play together and to make them friends

He wanted them to be friends so he got them to play with each other.

to play a trick for Tom to see that Jeremy was nice after all (Please note that this is an acceptable
paraphrase of the boys becoming friends.)

0 - Unacceptable Response

The response does not provide an appropriate explanation for why Tom’s dad really made Enemy Pie. The
response may indicate that Tom’s dad wanted the boys to spend time together without specific reference to
the intended outcome, or it may refer generally to Tom having no enemies without reference to Tom and
Jeremy’s relationship.

Examples:

He made Tom play with Jeremy.

So they would get to know each other.

He thought it would work and make Jeremy leave.
He made the pie for them all to share.

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Enemy Pie, Item 15

15. What kind of person is Tom’s dad? Give an example of what he did in the story
that shows this.

Purpose: Literary
Process: Interpret and Integrate ldeas and Information

2 - Complete Comprehension

The response describes one plausible character trait of Tom’s dad that is central to his role in the story (e.g.,
helpful, caring, nice, good, smart, clever, tricky, secretive). In addition, the response provides one example
of Tom’s dad’s actions that is evidence of the character trait.

NOTE TO SCORERS: Traits may be expressed as a longer description, rather than as a single

word.

Examples:

He was caring because he wanted to help his son make friends.

He was smart in how he found a way for the boys to like each other.

He was the kind of person who kept secrets. He kept Tom from finding out that Enemy Pie was just a
normal pie.

He was nice. He wanted Tom and Jeremy to get along.
Tom’s dad was kind. He thought of a plan for his son to make friends.

MINWVHEd 9T0¢C STdId

1 - Partial Comprehension

The response provides one plausible character trait of Tom’s dad that is central to his role in the story (e.g.,
helpful, caring, smart, clever, tricky, secretive). Traits may be expressed as a longer description, rather than
as a single word.

Examples:

He was caring.

He was nice.

He was a good person.
He was a good dad.

He cared about his son.
He wanted to help Tom.

He was clever. He made a pie. (Please note that “he made a pie” is not an appropriate example of Tom’s
dad’s cleverness.)

0 - No Comprehension

The response does not provide an appropriate description of Tom’s dad’s character. The response may
provide a general character trait of Tom’s dad that is not supported by the text, or a vague description that
demonstrates limited comprehension of the story without further textual support.
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Examples:
Tom’s dad was mean.

He was confused. (Please note that this response describes Tom in the story.)

He was a cook. He baked a pie. (Please note that “he was a cook” is not a character description.)
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OR, the response may provide an example of Tom’s dad’s actions without providing a character trait.
Examples:
He made Tom think Enemy Pie would work.
He kept the recipe a secret.
He told Tom to play with Jeremy.

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank

Enemy Pie, Item 16

16. What lesson might you learn from this story?

Purpose: Literary
Process: Examine and Evaluate Content, Language, and Textual Elements

1- Acceptable Response

The response provides an evaluation of the main message or theme of the story that acknowledges the
importance of giving a relationship the chance to grow before deciding whether someone is your friend, or
indicates that it is possible to change how you feel about someone.

Examples:

Don’t judge someone before you know them.

You can make friends if you give it a chance.

Your enemy can become your friend.

Try to like your enemy. They might become your friend.

0 - Unacceptable Response

The response does not provide a plausible evaluation of the main message or theme of the story. The
response may provide a main message that is too general, or may refer to a message that is not central to the
story.

Examples:

Be nice to everyone.
You shouldn’t have enemies. (Please note that this is an inaccurate generalization of the main message.)
Don't eat Enemy Pie.

It isn’t nice to exclude someone from your party.
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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The GIANT Tooth
Mvystexy

A fossil is the remains of any creature or plant that lived on the
Earth many, many years ago. People have been finding fossils for
thousands of years in rocks and cliffs and beside lakes. We now
know that some of these fossils were from dinosaurs.

AJOMINWYHEd 9T0¢C STdId
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Long ago, people who found huge fossils did not know what they were.
Some thought the big bones came from large animals that they had seen or
read about, such as hippos or elephants. But some of the bones people found
were too big to have come from even the biggest hippo or elephant. These
enormous bones led some people to believe in giants.
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Hundreds of years ago in France, a man named Bernard Palissy had
another idea. He was a famous pottery maker. When he went to make his
pots, he found many tiny fossils in the clay. He studied the fossils and wrote
that they were the remains of living creatures. This was not a new idea.
But Bernard Palissy also wrote that some of these creatures no longer lived
on earth. They had completely disappeared. They were extinct.

Was Bernard Palissy rewarded for his discovery? No! He was put in
prison for his ideas.

As time went by, some people became more open to new ideas about
how the world might have been long ago.

Then, in the 1820s, a huge fossil tooth was found in England. It is
thought that Mary Ann Mantell, the wife of fossil expert Gideon Mantell
was out for a walk when she saw what looked like a huge stone tooth.
Mary Ann Mantell knew the big tooth was a fossil, and took it home to
her husband.

When Gideon Mantell first looked
at the fossil tooth, he thought it had
belonged to a plant eater because
it was flat and had ridges. It was
worn down from chewing food. It
was almost as big as the tooth of an
elephant. But it looked nothing like
an elephant’s tooth.

Fossil tooth sketched life-sized

120
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Gideon Mantell could tell that the pieces of rock attached to the tooth
were very old. He knew that it was the kind of rock where reptile fossils
were found. Could the tooth have belonged to a giant, plant-eating reptile
that chewed its food? A type of reptile that no longer lived on earth?

Gideon Mantell was really puzzled by the big tooth. No reptile that he
knew about chewed its food. Reptiles gulped their food, and so their teeth
didn’t become worn down. It was a mystery.

Gideon Mantell took the tooth to a museum in London and showed it
to other scientists. No one agreed with Gideon Mantell that it might be the
tooth of a gigantic reptile.

Gideon Mantell tried to find a reptile that had a tooth that looked like
the giant tooth. For a long time, he found nothing. Then one day he met
a scientist who was studying iguanas. An iguana is a large plant-eating
reptile found in Central and South America. It can grow to be more than
five feet long. The scientist showed Gideon Mantell an iguana tooth. At last!
Here was the tooth of a living reptile that looked like the mystery tooth.
Only the fossil tooth was much, much bigger.
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Iguana

A life-sized
@ drawing of an

iguana’s tooth
from Gideon Mantell's
notebook
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Now Gideon Mantell believed the fossil tooth had belonged to an animal
that looked like an iguana. Only it wasn’t five feet long. Gideon Mantell
believed it was a hundred feet long! He named his creature Iguanodon.
That means “iguana tooth”.

Gideon Mantell did not have a whole Iguanodon skeleton. But from
the bones he had collected over the years, he tried to figure out what one
might have looked like. He thought the bones showed that the creature had
walked on all four legs. He thought a pointed bone was a horn. He drew an
Iguanodon with a horn on its nose.

What Gideon Mantell thought an Iguanodon looked like
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Years later, several complete Iguanodon skeletons were found. They
were only about thirty feet long. The bones showed that it walked on its
hind legs some of the time. And what Gideon Mantell thought was a horn
on its nose was really a spike on its “thumb”! Based on these discoveries,
scientists changed their ideas about what the Iguanodon looked like.

Gideon Mantell made some mistakes. But he had made

an important discovery, too. Since his first idea that the
fossil tooth belonged to a plant-eating reptile, he
spent many years gathering facts and evidence
to prove his ideas were right. By making

careful guesses along the way, Gideon
Mantell was one of the first
people to show that long ago,
giant reptiles lived on earth.
And then they became extinct.

|

Hundreds of years before,
Bernard Palissy had been
thrown in prison for saying
nearly the same thing. But
Gideon Mantell became

JOMINWVYHd 9T0¢C ST1dId

What scientists today think the Iguanodon B

.. looked like
famous. His discovery made

people curious to find out more
about these huge reptiles.

mroxX

In 1842, a scientist named Richard Owen decided that these extinct
reptiles needed a name of their own. He called them Dinosauria. This
means “fearfully great lizard”. Today we call them dinosaurs.
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Questions The Giant Tooth Mystery

1. What is a fossil?

the surface of rocks and cliffs

the bones of a giant

the remains of very old living things

the teeth of elephants

ONONONO)

2.  According to the article, why did some people long ago believe in
giants?

124

3.  Where did Bernard Palissy find fossils?
(® on the cliffs
in the clay
@ by a river

@ on a path
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4. What was Bernard Palissy’s new idea?

©e[e)]

5.  Why was Bernard Palissy put into prison?
People were not open to new ideas.
He copied his ideas from Gideon Mantell.

He left tiny fossils in his pottery.

©@ 006

Studying fossils was forbidden in France.
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6. Who found the fossil tooth in England?

Bernard Palissy

Mary Ann Mantell

mro=x

Richard Owen

Gideon Mantell

© 006
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7. What did Gideon Mantell know about reptiles that made the fossil
tooth puzzling?
Reptiles had no teeth.

Reptiles were found under rocks.

Reptiles lived long ago.

© 006

Reptiles gulped their food.

8.  Gideon Mantell thought the tooth might have belonged to different
types of animals. Complete the table to show what made him think

this.
Type of animal What made him think this
A plant eater The tooth was flat with ridges.

A giant creature

A reptile
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9.  Why did Gideon Mantell take the tooth to a museum?

to ask if the fossil belonged to the museum
to prove that he was a fossil expert

to hear what scientists thought of his idea

© 006

to compare the tooth with others in the museum

10. A scientist showed Gideon Mantell an iguana tooth. Why was this
important to Gideon Mantell?

S
Eele)
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11.  What did Gideon Mantell use when trying to figure out what the
Iguanodon looked like?

mro=x

@ bones he collected
ideas from other scientists
@ pictures in books

teeth from other reptiles
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12.  Look at the two pictures of the Iguanodon. What do they help you

to understand?

13. Later discoveries proved that Gideon Mantell was wrong about
what the Iguanodon looked like. Fill in the blanks to complete the

table.

What Gideon Mantell thought
the Iguanodon looked like

What scientists today think
the Iguanodon looked like

The Iguanodon walked on four legs.

The Iguanodon had a spike on
its thumb.

The Iguanodon was 100 feet long.
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14.

EA

What were found that showed Gideon was wrong about what the

Iguanodon looked like?
@ more fossil teeth

scientific drawings
@ living Iguanodons

@ whole skeletons
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Giant Tooth Mystery, Item 2

2. According to the article, why did some people long ago believe in giants?

Purpose: Acquire and Use Information
Process: Make Straightforward Inferences

1 - Acceptable Response

The response demonstrates understanding that people long ago believed in giants because they found huge
bones/skeletons/fossils.

NOTE TO SCORERS: Some students use the word “giant” as a synonym for “big” or “huge”. Such
responses should be credited only where the meaning is made clear.

Examples:

They found bones too big to belong to something they knew.

They found giant bones that were too big to be from the biggest hippo.
They found really big bones.

The bones were so big they must be from giants.

0 - Unacceptable Response

The response does not demonstrate understanding that people long ago believe in giants because they
found huge bones/skeletons/fossils.
Examples:

Giants are really big.

They found giant bones. (Please note that the use of “giant” is ambiguous.)
They found things that must belong to giants.

They found dinosaur bones.

They found bones from giants.

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank

Giant Tooth Mystery, Item 4

4. What was Bernard Palissy’s new idea?

Purpose: Acquire and Use Information
Process: Interpret and Integrate ldeas and Information

1 - Acceptable Response

The response demonstrates understanding that Palissy’s new idea was that some fossils belonged to animals
that no longer lived on earth, had completely disappeared, or were extinct.

Examples:

Fossils could be from extinct animals.

Some belonged to creatures no longer living on earth.

His idea was that some animals had completely disappeared!
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0 - Unacceptable Response

The response does not demonstrate understanding of Palissy’s new idea. It might relate to Palissy’s idea that
fossils once belonged to living creatures, or may state a fact about Palissy’s work.

Examples:

Fossils were from the remains of living creatures.

Reptiles were extinct.

He found fossils in his clay.

He was a famous pottery maker.

He studied fossils.

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

%
9 - Blank =
s
0
S
Giant Tooth Mystery, Item 8 =
8. Gideon Mantell thought the tooth might have belonged to different types of AL
animals. Complete the table to show what made him think this. =
m
Type of animal What made him think this

A plant eater The tooth was flat with ridges

A giant creature

A reptile

Purpose: Acquire and Use Information

Process: Interpret and Integrate ldeas and Information p
L
NOTE TO SCORERS: Each of the two parts of this item will be scored separately in its own E
I-point coding block. p
I
The entire item, with acceptable responses for each of the two parts and the corresponding coding blocks, R
should look like this: |§
Type of animal What made him think this P
A
A plant eater The tooth was flat with ridges 6 S
S
A giant creature The response identifies the large size of the fossil @ A
tooth (as big as an elephant’s tooth) ICE;

®
A reptile The response indicates that: — S

1) the rock in which it was found was the kind 6

of rock where reptile fossils were found/it was ©

found where reptiles had lived, OR >

2) the fossil tooth was similar to/looked like an ©

iguana/reptile tooth
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A GIANT CREATURE

1 - Acceptable Response

The response shows understanding of the characteristics that indicate the fossil tooth could belong to a
giant creature.

Type of animal What made him think this
A plant eater The tooth was flat with ridges
A giant creature The response identifies the large size of the fossil

tooth (as big as an elephant’s tooth)

A reptile The response indicates that:

1) the rock in which it was found was the kind
of rock where reptile fossils were found/it was
found where reptiles had lived, OR

2) the fossil tooth was similar to/looked like an
iguana/reptile tooth

0 - Unacceptable Response

The response does not show understanding of the characteristics that indicate the fossil tooth could belong
to a giant creature. The response may refer to the text at the beginning of the passage about fossils in
general, rather than to Gideon’s hypotheses about the fossil tooth.

Examples:

Some thought the big bones came from large animals.
It was worn down.

It looked like an elephant’s tooth. (Please note that this is an inaccurate response. The text states, “it looked
nothing like an elephant’s tooth.”)

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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A REPTILE

1 - Acceptable Response

The response shows understanding of the characteristics that indicate the fossil tooth could belong to a
reptile.

Type of animal What made him think this
A plant eater The tooth was flat with ridges
A giant creature The response identifies the large size of the fossil

tooth (as big as an elephant’s tooth)

A reptile The response indicates that:

1) the rock in which it was found was the kind
of rock where reptile fossils were found/it was
found where reptiles had lived, OR

A

2) the fossil tooth was similar to/looked like an A

iguana/reptile tooth L

N

o

0 - Unacceptable Response -

The response does not show understanding of the characteristics that indicate the fossil tooth could belong 2

t il =

0 a reptile. =

Examples: g
It eats plants.

Reptiles gulped their food.

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank

Giant Tooth Mystery, Item 10

10. A scientist showed Gideon Mantell an iguana tooth. Why was this important to
Gideon Mantell?

Purpose: Acquire and Use Information
Process: Interpret and Integrate ldeas and Information

1 - Acceptable Response

The response demonstrates understanding that the iguana tooth provided evidence that supported Gideon
Mantell’s theory that the fossil tooth might have belonged to a giant reptile.
Examples:

LOMO>VVNI>TYT WV XOX—T M <

The iguana tooth showed his fossil could be from a reptile.

It helped him find out what type of animal the tooth belonged to.
The tooth proved he was right.

It gave him proof for what he thought all along.
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OR, the response demonstrates a more general understanding that the iguana tooth looked like the fossil
tooth.
Examples:

The iguana tooth looked like the fossil tooth.

He could see that they looked the same.

He could tell it was the same one.

He had spent years looking for a matching tooth.
It was flat and had ridges.

0 - Unacceptable Response

The response does not demonstrate understanding of the significance of the iguana tooth.
Examples:

He wanted to be famous.
He thought it would be interesting to see an iguana’s tooth.
He wanted to learn more about reptiles.

It showed he was clever. (Please note that this response is too vague because it focuses on his personal
characteristics rather than on his discovery.)

He wanted to compare the teeth. (Please note that this response fails to indicate the significance of the
comparison.)

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank

Giant Tooth Mystery, Item 12

12. Look at the two pictures of the Iguanodon. What do they help you to
understand?

Purpose: Acquire and Use Information
Process: Examine and Evaluate Content, Language, and Textual Elements

2 - Complete Comprehension

The response demonstrates understanding that the pictures show the changes in scientific ideas, or that the
pictures show different people’s ideas about the Iguanodon.

Examples:

that scientists today think the Iguanodon looked different than Gideon Mantell did

To show how people’s ideas about what the Iguanodon looked like changed.

To show that different people had different ideas about what it looked like.

how different the ideas were

Gideon Mantell thought the bones showed the Iguanodon walked on all four legs, but later scientists
changed their minds.
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OR, the response indicates that the pictures illustrate the mistakes that Gideon Mantell or other people
might have made.
Examples:

To show that Gideon got some things wrong.

that people sometimes make mistakes

1 - Partial Comprehension

The response demonstrates a more general understanding that the Iguanodons looked different in the two
pictures.
Example:

To show they look different.

OR, the response describes a difference between the two pictures without reference to changes in scientific
ideas or what different people might have believed.
Example:

One has 4 legs, the other has 2.

OR, the response provides an explicit reference to one of the pictures without reference to changes in
scientific ideas or what different people might have believed.
Example:

That Gideon thought it had a horn.

0 - No Comprehension

MINWVHEd 9T0¢C STdId

The response does not demonstrate understanding of the purpose of the illustrations. The response may
describe a specific feature from one of the pictures, or give a description of what the illustrations have in
common.

OR, the response may provide an inaccurate interpretation that the Iguanodon itself changed in appearance B
over time, rather than people’s ideas.
Examples:

To show what they looked like.

They help you understand how the Iguanodon changed over the years.
They show me they ate plants.

They had 4 legs.

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Giant Tooth Mystery, Item 13

13. Later discoveries proved that Gideon Mantell was wrong about what the
Iguanodon looked like. Fill in the blanks to complete the table.

What Gideon Mantell thought the What scientists today think the
Iguanodon looked like Iguanodon looked like

The Iguanodon walked on four legs

The Iguanodon had a spike on its
thumb

The Iguanodon was 100 feet long

Purpose: Acquire and Use Information
Process: Interpret and Integrate ldeas and Information

NOTE TO SCORERS: Each of the three parts of this item will be scored separately in its own
I-point coding block.

The entire item, with acceptable responses for each of the three parts and the corresponding coding blocks,
should look like this:

What Gideon Mantell thought the What scientists today think the 6
Iguanodon looked like Iguanodon looked like ©®
The Iguanodon walked on four legs The Iguanodon (sometimes) walked/ )
stood on two/hind legs ©

The Iguanodon had a horn (on its head/| The Iguanodon had a spike on its %
face/nose) thumb e ——
OR, the spike was on its head/face/nose ®
The Iguanodon was 100 feet long The Iguanodon was 30 feet (9 metres) | ®
long ©

©
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1 - Acceptable Response

The response shows understanding of the difference in the way that Gideon Mantell and scientists today
think the Iguanodon walked or stood.

What Gideon Mantell thought the What scientists today think the

Iguanodon looked like Iguanodon looked like

The Iguanodon walked on four legs The Iguanodon (sometimes) walked/
stood on two/hind legs

0 - Unacceptable Response

The response does not show understanding of the way scientists today think the Iguanodon walked
or stood.
Examples:

two
It stood.

Non-Response Codes

AHOMIANWYHEd 9T0¢C STdId

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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1 - Acceptable Response

The response shows understanding of the difference in where Gideon Mantell and scientists today think the
Iguanodon had a spike.

What Gideon Mantell thought the What scientists today think the
Iguanodon looked like Iguanodon looked like
The Iguanodon walked on four legs The Iguanodon (sometimes) walked/

stood on two/hind legs

The Iguanodon had a horn (on its The Iguanodon had a spike on its

head/face/nose) thumb

OR, the spike was on its head/face/nose

The Iguanodon was 100 feet long The Iguanodon was 30 feet (9 metres)
long

0 - Unacceptable Response

The response does not show understanding of where Gideon Mantell thought the Iguanodon had a spike.
Examples:

horn on its thumb
spike on its back
did not have a spike on its thumb

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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1 - Acceptable Response

The response shows understanding of the difference in what Mantell and scientists today think was the
length of the Iguanodon.

What Gideon Mantell thought the What scientists today think the
Iguanodon looked like Iguanodon looked like

The Iguanodon was 100 feet long The Iguanodon was 30 feet (9 metres)
long

0 - Unacceptable Response

The response does not show understanding of how long scientists today think the Iguanodon was.
Examples:

It was not 100 feet long.
5 feet long

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

AHOMIANWYHEd 9T0¢C STdId

9 - Blank
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APPENDIX C

Sample PIRLS Literacy Passages,
Questions, and Scoring Guides

Reading for Literary Experience

Brave Charlotte

Reading to Acquire and Use Information

Caterpillar to Butterfly

AdOMINYHd 9T0¢C STdId
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Brave Charlotte

By Anu Stohner
lllustrated by Henrike Wilson

Charlotte was different from

all the other sheep right from the a
start. When all the other lambs S o
just stood shyly by their mothers, ‘ ii‘

Charlotte was leaping around,
ready for adventure.

Charlotte lived with all the other
sheep on a hillside far from the
farm. They had a shepherd to look
after them and he had an old dog
named Jack. Jack tried to keep
Charlotte under control, but she

wasn’t scared of him.

APPENDIX C



1. Who 1s Jack?

[eleliele]

2. What did Jack try to do with Charlotte?

©e[e0]
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One time, Charlotte jumped over the side of a riverbank
and went for a swim in the fast-running stream.

“Tut, tut,” said the older sheep, shaking their heads.

What would they say if they knew that at night Charlotte
secretly roamed through the countryside?

When all the other sheep
were sleeping, she would
slip away to her special
place and gaze at the moon.
Even Jack didn’t notice.
But he didn’t have very
good ears these days.
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3. Give two ways that Charlotte was different from the |3

other sheep. O

©

L.

2.

L] g
4. Where was Charlotte standing in the picture on the T
(@)

opposite page?

(®» 1n her special place
by the stream

(© at the farm

(® 1n her hiding place

Why didn’t Jack notice when Charlotte went out at
night?

©e[e]
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One day something terrible happened. The shepherd fell
over and broke his leg. Jack barked and circled around
him, but that didn’t help
one bit. The shepherd lay
in the grass, not knowing
what to do.

“Oh dear, oh dear,”
said the older sheep.
“Somebody must go to
the farmer’s house in the
valley and get help.”

“dack should go. He 1s
the only one who knows the way.”

“But it 1s too far. He hardly manages with the herd these
days.”

“Yes, that’s true,” said the others, shaking their heads in
despair.
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6. Why was the shepherd lying in the grass?
(®» He didn’t want to visit the farmer.
He had broken his leg.
(© He wanted to go to sleep.

(® He was gazing at the moon.

7. Where did the animals need to go to get help? 0 5
© B
5
G B
8. Give one reason why Jack was the best one to get o)
help. )
©
Give one reason why Jack was NOT the best one to
get help.

OmO>0NV0NrXrUuv <O>OXMHA~=r WVOCrA—=TV MmMr o
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Then Charlotte said, “I'll do it. I'll go.”

“Charlotte?” muttered the older sheep.

“Out of the question! A sheep has never gone to the valley
alone.”

The older sheep were beside themselves with worry. But
Charlotte couldn’t hear them. She had already left to find
the right way to the valley.

She bounded over fields, through the stream, and over
the mountain.
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9. How did the older sheep feel when Charlotte left?

® happy
relieved

(© worried

© angry

10. Why couldn’t Charlotte hear the older sheep?

©ee0]
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When Charlotte reached the busy road, it was the middle
of the night. She stood and watched the traffic.

A truck driver noticed Charlotte and stopped in the road.

“Going to the valley?” he asked. Charlotte nodded.
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11. When did Charlotte reach the road?

[eleliele]

12. What did Charlotte do when she reached the road?

(®» She walked towards the farmer’s house.
She stood and watched the traffic.
(© She tried to cross the road.

dOMINWVYHd 9T0¢C STdId

(® She waved for a truck to stop.
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It was so nice to speed along in the truck that Charlotte
was almost sorry when they reached the farmer’s house.

The farmer was
asleep when Charlotte
tapped on his window
with her nose.

“It’s Charlotte,”
said the farmer,
“and she 1s all alone.
Something must be
wrong.”
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13. Why was Charlotte almost sorry to reach the
farmer’s house?

(®» She missed the other sheep.

She would have to wake up the farmer.
(© She liked the ride in the truck.

(® She was worried about the shepherd.

HI
-

How did the farmer know something was wrong?

o
L |
P!
—
[07]
N
o
=
o
=
o
>
<
m
=
(@)

(®» Charlotte was all alone.
Charlotte told him.

(© Charlotte came in a truck.

(® Charlotte looked sorry.
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Charlotte and the farmer drove on the tractor to find the
other sheep. When they arrived, the poor shepherd was
still lying in the grass. The farmer took him to the hospital
right away.

The shepherd had his leg in a cast for six weeks before
he could go back to the sheep. When he returned, he gave
Charlotte a big smile. From then on, Charlotte was free to
roam as she pleased.

APPENDIX C



15. What did the farmer and Charlotte do together?
©
®

16. How long did the shepherd have a cast on his leg?
©
®

17. Why did the shepherd give Charlotte a big smile?

o
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18. Put the events from the story in the correct order.

The first one has been done for you.

The shepherd goes to the hospital.
Charlotte goes to the valley.

1 The shepherd needs help.
The farmer finds the shepherd.
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Scoring Guides for Constructed-response Questions

Brave Charlotte, Item 1
1. Who is Jack?

Purpose: Literary
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response indicates that Jack is a/an old sheep dog.
Examples:

old sheep dog
sheep dog

dog
shepherd’s dog

0 - Unacceptable Response

The response does not indicate that Jack is an old sheep dog. The response may provide an overly vague
description of Jack or describe something that Jack does in the story.
Examples:

sheep
shepherd

animal (Please note that this response is too vague.)

AdOMINYHd 9TO0C STHId

He’s the one that takes care of the sheep.

He keeps Charlotte under control.
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

mro=x

9 - Blank
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Brave Charlotte, Item 2
2. What did Jack try to do with Charlotte?

Purpose: Literary
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response indicates that Jack tries to keep Charlotte under control. Please note that responses
paraphrasing this idea are considered acceptable.
Examples:

keep Charlotte under control
control
keep her calm

0 - Unacceptable Response

The response does not indicate that Jack tries to keep Charlotte under control.
Examples:
put Charlotte to sleep

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Brave Charlotte, Item 3
3. Give two ways that Charlotte was different from the other sheep.

Purpose: Literary
Process: Interpret and Integrate Ideas and Information

2 - Complete Comprehension

The response provides two text-based ways that Charlotte was different from the other sheep from the list
of acceptable responses below. Ways listed on the same line are considered the same idea and cannot be
credited separately.
NOTE TO SCORERS: Responses paraphrasing these ideas are considered acceptable as long as
the meaning is clear.

Ways that Charlotte was different from other sheep:

She was brave. / She was not shy.

She was leaping around (while other sheep stood by their mothers). / She didn’t stand by her mother.
She was ready for adventure.

She jumped over a riverbank and went swimming.

She secretly roamed the countryside at night.

She slipped away to her special place (and gazed at the moon) (while other sheep were sleeping).

She went to save the shepherd. (Please note that specific actions that were involved in saving the shepherd,
such as riding in a truck, are also acceptable.)

dOMINVYHEd 9T0C S1dId

1 - Partial Comprehension

The response provides one text-based way that Charlotte was different from the other sheep from the list of

acceptable responses above. n

0 - No Comprehension

The response does not provide any text-based way that Charlotte was different from the other sheep.
Examples:
She wasn't scared of Jack. (Please note that the text does not state that the other sheep are scared of Jack.)
She was shy.
She was scared.

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Brave Charlotte, Item 5
5. Why didn’t Jack notice when Charlotte went out at night?

Purpose: Literary
Process: Make Straightforward Inferences

1 - Acceptable Response

The response indicates that Jack did not notice Charlotte because he could not hear very well.
Examples:
He didn’t have very good hearing.
His ears were bad.
He didn't hear her.

0 - Unacceptable Response

The response does not recognize that Jack could not hear very well. The response may indicate that Jack was
old, but does not connect this to his lack of hearing.
Examples:

He was asleep.
He was old. (Please note that this response is too vague to be considered accurate.)

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Brave Charlotte, Item 7
7. Where did the animals need to go to get help?

Purpose: Literary
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response identifies the farmer’s house in the valley as the place to go for help.
Examples:

the farmer’s house
to the valley
to the farmer

0 - Unacceptable Response

The response does not identify the farmer’s house in the valley as the place to go for help.
Examples:

afarm
to the road (Please note that this is an intermediate location, not the destination.)

to the stream
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

AdOMINYHd 9TO0C STHId

9 - Blank
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Brave Charlotte, Item 8

8. Give one reason why Jack was the best one to get help. Give one reason why
Jack was NOT the best one to get help.

Purpose: Literary
Process: Make Straightforward Inferences

2 - Complete Comprehension

The response provides a plausible text-based reason why Jack was the best one to get help AND a reason
why Jack was not the best one to get help from the lists below.
Why Jack was the best:

He knew where to go.

He knew how to get to the farmer’s house/valley.
Why Jack was NOT the best:

He is too old to go that far.

It was too far for him to travel.

He can’t manage the distance.

He needed to stay and watch the sheep.

He's too slow/weak.

He hardly manages with the herd these days.

1 - Partial Comprehension

The response provides a plausible text-based reason why Jack was the best one to get help OR a reason why
Jack was not the best one to get help from the lists above.

0 - No Comprehension

The response does not provide a plausible text-based reason for why Jack was the best one to get help or a
reason why he was not the best one to get help.
Example:

He was the best because he was the fastest.
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Brave Charlotte, Item 10
10. Why couldn’t Charlotte hear the older sheep?

Purpose: Literary
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response indicates that Charlotte could not hear the sheep because she had already left to go to the
farmer’s house.
Examples:

She had already left.
She already was on her way to the farmer’s house.

She was too far away.

0 - Unacceptable Response

The response does not indicate that Charlotte had already left to go to the farmer’s house.
Example:

She had bad ears.
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.
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Brave Charlotte, Item 11

11. When did Charlotte reach the road?

Purpose: Literary
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response
The response identifies the time (middle of the night) that Charlotte reached the road.
Examples:
in the middle of the night
at night
night

0 -Unacceptable Response

The response does not identify the time that Charlotte reached the road.
Examples:
in the middle

when the farmer was sleeping (Please note that the text does not state that the farmer was asleep when
Charlotte reached the road.)

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Brave Charlotte, Item 15
15. What did the farmer and Charlotte do together?

Purpose: Literary
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response indicates that Charlotte and the farmer drove a tractor out to the sheep.
Examples:

drove a tractor out to the sheep
drove

They rode together.

found the sheep

They went to get the shepherd.

0 - Unacceptable Response

The response does not indicate that Charlotte and the farmer drove a tractor out to the sheep. The
response may provide an action from the wrong part of the text.
Examples:

They went to the hospital. (Please note that the farmer did this with the shepherd.)
They went to the valley. (Please note that Charlotte did this on her own.)
They rode in a truck. (Please note that Charlotte did this earlier in the story.)
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Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Brave Charlotte, Item 16

16. How long did the shepherd have a cast on his leg?

Purpose: Literary
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response indicates that the shepherd wore the cast for six (6) weeks.
Example:

six weeks

6 weeks

0 - Unacceptable Response

The response does not indicate that the shepherd wore the cast for six weeks.
Example:

six
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Brave Charlotte, ltem 17
17. Why did the shepherd give Charlotte a big smile?

Purpose: Literary
Process: Interpret and Integrate Ideas and Information

1 - Acceptable Response

The response indicates that the shepherd smiled at Charlotte because he was grateful to her (for helping
him/getting the farmer), or the response may provide a more general indication that the shepherd was
proud of Charlotte.

Examples:

She had gone to get the farmer.
She had gone to get help.

He was thankful.

She saved him.

She helped him.

He was proud of her.

because she was brave

0 - Unacceptable Response

The response does not indicate that the shepherd smiled at Charlotte because she had helped him
by getting the farmer or because he was proud of her.

Examples:

He liked her.

He was happy.
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From then on, Charlotte was free to roam as she pleased.
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank

<OrOdm—-d—~r— WrX—ToY mMmr 7o

P
A
S
S
A
€]
E
S

@ TIMSS & PIRLS
o gy et BIRLS LITERACY 2016 SAMPLE PASSAGES, QUESTIONS, AND SCORING GUIDES 167




PIRLS

2016

Brave Charlotte, Item 18

18. Put the events from the story in the correct order. The first one has been done
for you.

__ 'The shepherd goes to the hospital.
___ Charlotte goes to the valley.

__1 The shepherd needs help.

__ 'The farmer finds the shepherd.

Purpose: Literary
Process: Interpret and Integrate ldeas and Information

1 - Acceptable Response

The response recognizes the order of the events from the story (4, 2, 1, 3).
4 The shepherd goes to the hospital.

2 _Charlotte goes to the valley.
1 'The shepherd needs help.
3 The farmer finds the shepherd.

0 - Unacceptable Response
The response does not recognize the order of the events from the story.

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Caterpillar to Butterfly

By Deborah Heiligman
lllustrated by Bari Weissman

One day our teacher brought a caterpillar to school in a
jar. It was eating green leaves. This tiny caterpillar was
going to change into a butterfly. Caterpillars usually turn
into butterflies outdoors. But we watched our caterpillar
change into a butterfly right in our classroom.
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1. What was the caterpillar eating when the teacher
first showed it to the children?

[eleliele]

2.  Where did the children watch the caterpillar turn
into a butterfly?
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Our teacher told us our caterpillar started out as a
tiny egg. The mother butterfly laid the egg on a leaf.
The mother butterfly chose the leaf of a plant that the
caterpillar would eat. When the caterpillar hatched out
of the egg, it was hungry. It ate its own eggshell! Then it
started to eat green plants right away.

The caterpillar’s job was to eat and eat, so it would grow.

Each day it got bigger. The caterpillar ate and grew for 12
days.

APPENDIX C



3. Why did the egg need to be on a leaf?

[eleliele]

4. What was the first thing the caterpillar did when it
hatched?

(™ chose a leaf
ate its eggshell

AdOMINYHd 9TO0C STHId

(© ate green plants
(® laid an egg
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Our skin grows with us. But a caterpillar’s skin does not
grow. When the caterpillar got too big for its skin, the skin
split down the back.

The caterpillar crawled right out of its own skin. It
had a new skin underneath. This is called shedding. Our
caterpillar shed its skin four times. After many days our
caterpillar was finished growing. It was almost as big as
my little finger.

APPENDIX C



5. How 1s a caterpillar’s skin different from human
skin?
(® It does not grow.
It 1s too big for the caterpillar.
(© It grows for many days.
(® A caterpillar can crawl in its skin.
6. Why did the caterpillar need to shed its skin? g
(™ Its skin got smaller. E
It was hungry.
© It got too big for its skin.
(® Its skin got too old.
L] E
7. How many times did the caterpillar shed its skin? E
(0) P
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8. How big was the caterpillar when it finished o A
growing? © \
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Then our caterpillar made a special house. First it made
a button of silk. It used this button to hang upside down
from a twig.

Button of silk —— Slae

Then it shed its skin for the last time. Instead of a new
skin, this time it formed a chrysalis with a hard shell. We
watched the chrysalis for a long time.

Chrysalis with a
hard shell — Q& |

Every day the shell looked
the same. But inside the shell
changes were happening.
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9. What did the caterpillar use a button of silk for?

©e[e)]

_10. Which word tells you something was happening to =
the chrysalis inside its shell? E
(®» changes %
button %
(© shed
(® watched
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We waited and waited. Then, one day, somebody shouted,
“Look!” The shell was cracking. It was a butterfly! Our
butterfly was damp and crumpled. It hung on to the shell
while its wings flapped. This pumped blood into its wings.
The wings stretched out and dried. Soon our butterfly was
ready to fly.

A AT

B
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11. What came out of the shell?
(» a green leaf
a new caterpillar

(© atiny egg
(® a butterfly

HI
o

How did the butterfly pump blood into its wings?
(™ by drying them

by flapping them
(© by stretching them

AdOMINYHd 9TO0C STHId

(® by crumpling them
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Our butterfly could not stay in the jar. It needed to be

outside with flowers and grass and trees. We watched
our butterfly land on a flower. It sipped the flower’s
nectar through a long, coiled tube. Maybe it was a female
butterfly. Maybe someday she would lay an egg on a leaf.
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13. Why couldn’t the butterfly stay in the jar?

(® They did not want to watch it anymore.
They wanted another caterpillar.

(© It was too big for the jar.

(® It needed to be free outdoors.
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How did the butterfly get the flower nectar?

(®» ate flowers and grass
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chewed green leaves
(© sipped through a tube

(® pumped its wings
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15. Put what happens to a caterpillar as it changes into
a butterfly in the correct order. The first one has
been done for you.

____ The caterpillar forms a hard shell.
1 The caterpillar eats and grows.
____ The butterfly flaps its wings.
_____ The shell of the chrysalis cracks.
_16. Think about the whole article. Why do you think the

teacher brought the caterpillar into the classroom?
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Scoring Guides for Constructed-response Questions

Caterpillar to Butterfly, ltem 1
1. What was the caterpillar eating when the teacher first showed it to the children?

Purpose: Acquire and Use Information
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response indicates that the caterpillar was eating leaves.
Examples:

The caterpillar was eating green leaves.

leaves

Non-Response Codes

A

plants 2
0

0 - Unacceptable Response N
=

The response does not indicate that the caterpillar was eating leaves. o
Example: 2
>

food =
m

=

]

A

=

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Caterpillar to Butterfly, ltem 2
2. Where did the children watch the caterpillar turn into a butterfly?

Purpose: Acquire and Use Information
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response indicates that the children watched the caterpillar change in a jar or, more generally, in their
classroom/at school.
Examples:

inajar
in the class

at school

0 - Unacceptable Response

The response does not indicate that the children watched the caterpillar change in a jar or in their classroom.
Examples:

outside

on a leaf
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Caterpillar to Butterfly, Item 3
3. Why did the egg need to be on a leaf?

Purpose: Acquire and Use Information
Process: Interpret and Integrate ldeas and Information

1 - Acceptable Response

The response indicates that the egg was laid on a green leaf so that the caterpillar would have food to eat (as
soon as it hatched).
Examples:

so it would have food

The caterpillar could eat it.

The caterpillar would be hungry.
to eat it

0 - Unacceptable Response

The response does not indicate that the egg was laid on a leaf so that the caterpillar would have food to eat
when it hatched.

Examples:

so the butterfly could eat it

so it could grow
to eat (Please note that this response is too vague.)

JOMINWVHd 9T0¢C S1dId

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s

control. B
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Caterpillar to Butterfly, ltem 7

7. How many times did the caterpillar shed its skin?

Purpose: Acquire and Use Information
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response indicates that the caterpillar sheds its skin four (4) times.
Examples:

four times
four
4

0 - Unacceptable Response

The response does not recognize that the caterpillar sheds four times.
Examples:

four days
five times

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Caterpillar to Butterfly, ltem 8

8. How big was the caterpillar when it finished growing?

Purpose: Acquire and Use Information
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response

The response indicates that the caterpillar was the size of a little finger when it finished growing.
Examples:
It was as big as my little finger.
the size of a boy’s little finger
finger

0 - Unacceptable Response

The response does not indicate that the caterpillar was the size of a little finger when it finished growing.
Examples:

as big as a hand
big
It was small.

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

AdOMINYHd 9TO0C STHId

9 - Blank

mro=x

<Or>rOXmMm—A~=r— WrrO—=7T

P
A
S
S
A
€]
E
S

@ TIMSS & PIRLS
o gy et BIRLS LITERACY 2016 SAMPLE PASSAGES, QUESTIONS, AND SCORING GUIDES 187




PIRLS

2016

Caterpillar to Butterfly, ltem 9
9. What did the caterpillar use a button of silk for?

Purpose: Acquire and Use Information
Process: Focus on and Retrieve Explicitly Stated Information

1 - Acceptable Response
The response recognizes that the caterpillar uses a button of silk to hang (from a twig).
Examples:

to hang upside down
to hang
hang from a twig

0 - Unacceptable Response

The response does not recognize that the caterpillar uses a button of silk to hang from a twig. The response
may repeat words from the question.
Examples:

to eat
to make a house

Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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Caterpillar to Butterfly, ltem 15

15. Put what happens to a caterpillar as it changes into a butterfly in the correct
order. The first one has been done for you.

____ The caterpillar forms a hard shell.
__1 The caterpillar eats and grows.
___ The butterfly flaps its wings.
____ The shell of the chrysalis cracks.

Purpose: Acquire and Use Information
Process: Interpret and Integrate Information and Ideas

1 - Acceptable Response

The response provides the correct order of the events in the article (2, 1, 4, 3).
__2 The caterpillar forms a hard shell.
_1 'The caterpillar eats and grows.
__4 'The butterfly flaps its wings.
__3 'The shell of the chrysalis cracks.

0 - Unacceptable Response
The response does not provide the correct order of the events in the article.

Non-Response Codes
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8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.
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Caterpillar to Butterfly, ltem 16

16. Think about the whole article. Why do you think the teacher brought the
caterpillar into the classroom?

Purpose: Acquire and Use Information
Process: Examine and Evaluate Content, Language, and Textual Elements

1 - Acceptable Response

The response recognizes that the teacher brought the caterpillar into class for students to see it change/grow
(into a butterfly).
Examples:

to see it change into a butterfly
to learn how butterflies form
so they could see it change

because she wanted them to see it grow

OR, the response may recognize that the teacher wanted students to learn about butterflies, without
explicitly mentioning change from a caterpillar.
Examples:

to learn about butterflies

to show how a butterfly works

OR, the response may indicate a general understanding that the teacher wanted students to learn about the
caterpillar’s cycle of life without explicitly mentioning its change into a butterfly.
Examples:

to learn about the cycle of life
to learn about the caterpillar’s cycle

to learn how a caterpillar’s life begins and ends

0 - Unacceptable Response

The response provides only a vague understanding of the reason the teacher brought the caterpillar into
class, or may provide an inaccurate description of why the teacher brought in the caterpillar.
Examples:

to learn about caterpillars
to watch it eat
to learn about nature

It was neat.
Non-Response Codes

8 - Not administered. Question misprinted, page missing, or other reason out of student’s
control.

9 - Blank
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